CNTC finals (Canada) ( Segment 4 of 8 )

Maksymetz VS L’Ecuyer
Maksymetz| L'Ecuyer | L'Ecuyer |Maksymetz
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Maksymetz 13 132

L'Ecuyer - 116

= 78X by W, down 4,EW -800
= 5¢ by N, down 1, NS -50
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Maksymetz 13 145

L'Ecuyer - 116

= 49 by N, making 4, NS 620
= 3NT by N, down 2, NS -200

(N-S)Maksymetz (E-W)L’Ecuyer
(W)L’Ecuyer (N)Maksymetz (E)Marcinski (S)Jacob
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= 49 by N, making 4, NS 620
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Maksymetz - 145

LEcuyer 3 119

= 2¢ by S, making 3, NS 110
= 44 by E, down 2,EW -200

(N-S)Maksymetz (E-W)L’Ecuyer
(W)L’Ecuyer (N)Maksymetz (E)Marcinski (S)Jacob
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= 2¢ by S, making 3, NS 110

= 44 by E, down 2,EW -200
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Maksymetz 8 153

L'Ecuyer - 119

= 3NT by E, down 2,EW -200
= 2NT by E, making 3,EW 150

(N-S)Maksymetz (E-W)L’Ecuyer
(W)L’Ecuyer (N)Maksymetz (E)Marcinski (S)Jacob
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= 3NT by E, down 2,EW -200
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Maksymetz - 153

L'Ecuyer - 119

5¢ by E, making 6,EW 420
5¢ by E, making 6,EW 420
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= 5¢ by E, making 6,EW 420
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Maksymetz 10 163

L'Ecuyer - 119

= 34 by N, making 3, NS 140
= 44X by N, down 2, NS -300

(N-S)Maksymetz (E-W)L’Ecuyer
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= 34 by N, making 3, NS 140

(N-S)Maksymetz (E-W)L’Ecuyer
(W)DougFraser (N)Zaluski (E)Gamble (S)JeffSmith

W N E S g%gSSgAKg%
N LEEE

3N 46 X P 9 39 69 AV 9
P P QPQAQOIQT
Q946> X7

AKOAMSH(G

= 44X by N, down 2, NS -300
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Maksymetz - 163

LEcuyer 6 125

= 29 by N, down 1, NS -100
= 29 by N, making 3, NS 140
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Maksymetz 2 165

L’Ecuyer - 125

= 3NT by E, down 2,EW -100
SNT by W, down 1,EW -50

(N-S)Maksymetz (E-W)L’Ecuyer
(W)L’Ecuyer (N)Maksymetz (E)Marcinski (S)Jacob
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Maksymetz vs L’Ecuyer
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= 29 by N, making 4, NS 170
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Maksymetz - 165

LEcuyer 1 149

= 3NT by E, making 4,EW 430
= 56 by E, making 5,EW 400
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Maksymetz - 165

L'Ecuyer - 149

3NT by E, making 4, EW 430
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= 3NT by E, making 4,EW 430
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= 3% by W, making 4,EW 130
= 3SNT by E, down 1,EW -100
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= 14 by N, down 2, NS -100
= 24 by W, making 2,EW 110
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= SNT by W, down 1,EW -50
= 3NT by W, down 1,EW -50
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